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Correct Option selected Wrong Option selected or Not Answered Correct Option

| Q.No: 1 Kalbelia folk dance is related to which of the following states? Freafera die 5 PFafifad 3 3 frw wsg ¥ Wi @2
‘ A West Bengal uf¥H dmre
B Rajasthan AR
c Madhya Pradesh Wy
‘ D Haryana giamn
‘ Q.No: 2 Ghumar folk dance is related to which of the following states? YR oo o Faffad 7 2 g g 3 deftd *
A Rajasthan KGN
'B Gujarat TR
‘ C Madhya Pradesh e R B 7 a
‘ D Haryana gfamom
‘ Q.No: 3 In which state is the origin of Krishna river? Fun T BT IeH RIF 59 T § 22
A Andhra Pradesh ST
‘ B Kerala e
[ Maharashtra HERTY
D Karnataka Fled
‘ Q.No: 4 Who is the current leader of opposition in Rajya Sabha? A B U F e & o B g
‘ A Sanjay Singh worg Rig
‘ B Manoj Jha = 7T
c P.Chidambaram LiAECE:S
D Mallikarjun Kharge m Wﬂ
‘ Q.No: 5 What is the Phillips curve related to? mﬁmm% ?
1 A Consumption Ehing
B Taxation PRI
c Inflation-unemployment TES R R
‘ D Import Export 3mara-fafa
‘ Q.No: 6 Whose autobiography was recently published as Believe- What Life and Cricket Taught Me? B 8 7 et siersu ficlia- ©1c 8w TS fvte aic Mt & w0 # yeia gf €2
A Suresh Raina Wh
B Virat Kohli forTe Bieht
c Kapil Dev Earckct
D Sachin Tendulkar wfee dgaay
I U W O & Sy oot o o gent 1 ara: T mufir oo T 9t o Wi ]
‘ Q.No: 7 Who among the following rulers established Nalanda University? Frofifaa & S fow e 3 Trdar fayfmes ot o #2
‘ A Skanda Gupta e T
‘ B Samudragupta Ricsenct
C Kumar Gupta I THR T YA
D Chandragupta-1 TE[E-IYH
| Q.No: 8 Which of the following dance is related to the tea tribes of Assam? Fofifed § & SF W T R 3 9 Seniad § 9afid 82
‘ A Garba AT
‘ B Kalbeliya Hraafemr
C Jhumur Dance TR T
D Kathakali Ealea]

\ Q.No: 9 Mt. Kilimanjaro in Africa and Mt. Fujiyama in Japan are examples of which types of mountains?

PP H AT REREWRY SR ST & ARde SR 58 WoR & UgTS! & SR 87
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A Young Fold Mountains gar afera wda
‘ B Block Mountains YR/ &F g
[ Volcanic Mountains SaTargEt uda
D Fold Mountains afm wda
| Q.No: 10 Shovana Narayan is a famous exponent of AT ARTA ¥ uftrg ufewres €1
A Kathak YD
B Kathakali Fuw
[+ Mohiniyattam ﬁ%ﬁm
‘ D Bharatnatyam WRHATEH
‘ Q.No: 11 Select the false statement regarding Kabir. AR F G H T Y BT 9 HIoN
A He was raised by a Muslim weaver IIFT YIE=-UI0T TF R g% A fsar ar
B He was born of a Brahmin widow q TP ST faear ey g
‘ C He wanted to transform society though peace and harmony qg i 3R Wgld & Wiead | YIS & aga-T d@rga &
D He was a disciple of Bhakti Saint 'Ramanuja’ q8 uieq wa T F R &
I Uy W qd A IMUf ol B 1 gB 1 3ra: [H: SMUR gol eI B o wH

Q.No: 12 :g:tz:]r;iat?action plan was launched by whom on 14 January 1986 with the main objective of pollution 14 SR 1986 ) TR AR a1 SRRT Q T B Ao e g g 9 T e
A Rajiv Gandhi ot it

B Arun Jaitley 3P0 Sedt
‘ C Manmohan Singh mﬁ?
D Lal Krishna Advani TP TSR
‘ Q.No: 13 Which of the following statements is not true about 'jizya' tax? g & F F W Hu o e F IR H w8 T ¥
‘ A It was for Non- Muslims. g R-gaem & g 4

B In 1560, Akbar ended Jizya 1560 ¥, saR 3 wiorn &t wara =) fean
c First Jizya was i d by M Bin-Quasim. g Sifrar HiewE -1 gR T T Al

D In 1679, Aurangzeb reintroduced Jizya. 1679 H, 3iTta 7 wifor &t e A = fomam
‘ Q.No: 14 Who among the following was called “Lustful Idiot” in Mughal empire? Frafifea ﬂ%ﬁﬁﬁﬂﬁ e F W'{é EZIRICIRIF
A Farrukhshiyar GEERMAR
B Alamgir I SR 1

c Jahandar Shah SETER e
‘ D Aurangzeb Firoec]
‘ Q.No: 15 Which of the following Personalities received the title meaning *Ocean of Knowledge? Frafifea 7 I frg oafda o ‘g9 & TR’ B Ul § arsn w82
A M S Gohlwalkar T Tigaaasy
‘ B Jayprakash Narayan TSI TR0

c Ishwar Chandra Bandyopadhyay $oR O deiuTa
‘ D Kapil Dev Hitaed
| Q.No: 16 Which of the following statements is incorrect? FPrafifed & ¥ $9 & B3 T 37

A Chhau dance is performed by women only. TH A Had lﬂ%maffam forar Wﬂ?ﬂ%l

B Gotipua dance is related to Odisha. g T 3ifyEn A walta ¥
c Dalkhai dance is mainly performed by ied by male TIAEE T T8I ¥ QA 730 AfiasRt & wry afgarsi gr1 fear wmen g1
‘ D Tiger Dance is performed during the Hindu month of Chaitra. g 7d & 3 F <R 919 o R s R
| Q.No: 17 India Post Payments Bank was founded in and it's headquarters are in e mirairmm__ AgdRmegerm__ #%
A 1 September 2018 and New Delhi 1 fy<daw 2018 3k 71 Rt
‘ B 1 October 2018 and Gurugram 1 Jqgax 2018 ah?gwmq

c 1 October 2017 and Noida 1 3aEER 2017 AR iwst
D 1 Sep 2017 and i 1 R 2017 oK Hag
I Y W g F I1ufy gof o o g 1 9r: U omuty oot e 9t o W

| Q.No: 18 Who regulates the Regional Rural Banks? g amdtor ot 31 A FH PR R 2

A NABARD RIEIS
‘ B Reserve Bank of India ferd 4 aifw e
‘ C State governments I TP
‘ D Finance Ministry fara wTer
| Q.No: 19 *Parakram Diwas’ is celebrated to mark the birth anniversary of which of the following personalities? Fmffea § @ fre wffa @t S 3t Rt 7 & o o Raw w9 s @2
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\Q.No: 23
A
B
c
)

|Q.No: 24
A
B
c
D

| Q.No: 25

B

Q.No: 27

|Q.No: 28

a4/’

Subhash Chandra Bose

Rabindranath Tagore
Bhagat Singh

Chandra Shekhar Azad

is the currency that quickly and regularly moves between financial markets.
Hot Money
Soft Money
Hard Money

Token Money

I 9 W g F 1 ol B o1 g 1 3ra: G Moy el T I o W
A is a non-depleting energy.
Wind energy
Thermal energy
Water energy

Solar energy

T WY WS & maf ot @ S Yt B 3 G 1af ol T B o\

Boiling of eggs is a change.

Endothermic
Exothermic
Physical change

Chemical change

I 0% W g F Smufy gof o o g 1 ora: Y omufr ot T 9 o W

Anthracite contains carbon.

27-37%
87-97%
80-90%

57-67%

Which among the following belongs to the phyla Bryophyta?
liverwort and mosses

corn and beans

fungi and algae

cones and pines

T vy W g F amufy oot Y o gt B O Sl gt T @t o wdsh
What is the distance of the sun from the earth?
147.56 million km
120 billion km
150 million km
147.56 billion km

Ran experiences a shaky floor all of a sudden during his guitar classes and decides to measure the
magnitude of the earthquake he experienced. The device which Ron should use is?

Galvanometer
Anemometer
Potentiometer

Richter scale

I u¥ Wy mu ol A o gt B1 ra: g 3ruf ol T o wd

Direction: The following guestion consists of two statements one labeled as * Assertion” and the other
as “Reason”.You have to examine these two statements carefully and select the correct answer to the
question from the given options.

Assertion: (A) Ringworm is a fungal disease.

Reason: (R) it is caused by trichophyton and microsporum.
(R) is the correct reason behind the assertion.

only (A) is true

only (R) is true

Both (A) and (R) are correct.

Which one of the following consists of true roots, stems, leaves and seeds that possess seed coats?
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[y 7%
vdigaTy R
wa g

AERAER TG

98 g5 ¥ & focfta 1ot & e ol @ o Prafd w9 3 Tl 1
gie Wt
[T 7+
1 W
S Wt

_ omwfed Sl ®
TS St

andta Feit

Ecka i

R F=t

IS BN IS TH ol Bl
Femadt
TR TivadT

WA FEA g gl
27-37%
87-97%
80-90%

57-67%

Frafaféa & 9 S Preen swwTRe I Weia 82
Rraaré iR B

s AR A

Fa% IR JAard

eI

guft & gf 3 gt foreht 22
147.56 fafera foedt
120 fafera s

150 fafm= it
147.56 faferas faft

R 3ot fieR wensll & SRM RME UF ARR G 31 3igHT Fa1 & 3R I 1y & digar B 7 o1 A
Toran 2 IO sy fovan A 39 1 5 Suaeor BT IwhRT S e

Aedfier
wrhfter
b iice
ez o

g Profafaa uy 7 @) oo ¥ R A T 31 e SR g 3 'SR & w7 dua fa m §1
M) 37 ST HAT Y WIS ST FA § IR Re e e 3 3 vy &1 9 IW TR

S (T) T P A

PRU: (R) T8 TRSBIBIZE 3R WIHIRT & BRU Gl 31
(3R) W& PRV B

Fad (U) w@ &

DI (3R) ¥ §

3t (7)o (o) W@ &

froffaa § F st arafier o, o, aftrat ol die €1 § R dier smaor g 82
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‘ A gymnosperm Fordieas
‘ B pteridophyte é‘%&ﬁmi
‘ C thallophyte ﬁ?ﬁmzz
D angiosperm TR
I 0y T g F mufey oot o o g 1 ora: g Sy oo e o o w3
| Q.No: 29 Ibuprofen is a medicine. TEHITE__ F@rRl
A Antihistaminicos AR
‘ B Antacid e
C Antipyretic TRARIS
D Analgesic Q’ﬂﬁﬁﬁr‘
e e PRS0 i 31 s St ) o .3 e o 1
question-fmm the given options. Y ﬁﬁﬁmﬂﬁﬂjﬁmm%mmmwf{ﬁuﬂﬁﬁwmél
Q.No: 30
Assertion (A): Even clear, transparent and odorless water may not always be safe for drinking. St (A): el 7w P, R ofR e we tﬁm Rk mm quiﬁ W%I
Reason(R): Toxic substances such as lead and arsenic contaminate water and result in death. PRI (R): e AR s S ward urf ﬁgﬁa = % an m RO HRQE?I St %I
A Both A and R are false. T S ST Y o ¥
‘B A is true but R is false. T B AP AR 3RTeT B
(o} Both A and R are true. TR R A
‘D A is false but R is true. T 3R ¥ A IR T 71
IR UY WY F 3MaR ol B S gt §1 3 G AR ot e Bt o\
‘ Q.No: 31 is a large area of beautiful land that is protected by the government. iy suE sl 89 % ol WHR gRI Wl |
‘ A Forest a1
) wildlife sanctuary st snaReT
C National park Mta JE
D Zoo Rfsarw
‘ Q.No: 32 Which of the following is not a scalar quantity? Fofifea # @ o @ sfdw IR et &2
A Velocity an
‘ B Distance §'ﬂ
‘ C Temperature YA
‘ D Density oq
‘ Q.No: 33 Which of the following gas is a major air pollutant? i & @ o &t ?RW‘I@ g UguPd &
‘ A Oxygen o
‘ B Nitrogen A
‘ C Propane W
D Carbon dioxide BT TGS
‘ Q.No: 34 The yellow revolution was implementeg to promote awa}eness for what? id wifd forads R Srrewar @ agmar 33 & i a1 7 o
‘ A Marigold ﬁm
‘ B Sunflower leaves o m Fua _— - )
‘ C Cow dung T T TR
D 0il production A I
Raani exclaimed that she saw a creature that looked like a small snake and also it had a segmented X w5 96 T T ol 3 S U SR Wi P Ry fRgar o1 ofR Suet iR 4 wfea
‘ Q.No: 35 body. Which animal did Raani saw in the backyard? IE T A F B AR @12
‘ A platyhelminths bcats
‘ B molluscs Arews
c annelids wRtE
‘ D nemathelminthes Friedfemis
‘ Q.No: 36 P and Q are sisters. R and T are brothers. P’s daughter is R’s sister. What is Q's relation to T? [E Q TEAEIRARTHUE I P ‘Pﬁ R TEARI QI T T T oy k2
‘ A Sister a8
B Aunt ganm/aRft
‘ C Grandmother <t
D Mother =
\ Q.No: 37 Choose the correct mirror image of this combination- JKHG8740. U FOE 31 T g B T IKHG8740
‘A OLTeDHUA OLTEDHUL
B OFTDUAH OLTEDUIH
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‘ c DHAWT30 OHAWT20

D OLTEOHZL OLTZOHZL

\ Q.No: 38 Choose the correct mirror image of this combination- CFGK81H. S WIS @1 W 0 B - CFGK81H
A HIg1DDHA HIg1DDA

I HI2ADDT HI2X0DT

c HI2ADTD HIZADTD

\ D HIZADIO HIgADTO

related to Divya’s husband?

‘ Q.No: 39 Rakhi is daughter of Divya, whose husband is the only brother of Rakhi’s father's sister. How is Rakhi @R Eﬁaﬁ%, I of et o @t e @ i 'H'I%%I Tt T e 3 o A ey 32

‘ A Sister @
Niece Kicic
[+ Daughter R
D Brother ur§

zreslfc;tatil:e option that is related to the third word in the same way as the second pair is related to the — g e o T g A e 31
Q.No: 40 "

India : Asia :: Kenya: ? YR : GRAT :: A ;7
‘ A America srifyeT
Africa ST
c Australia sifeRra
D Europe ‘lﬁ"

ﬁ:il:ct the option that is related to the third word in the same way as the second pair is related to the first ah 1T T o AR T A I i A g A R 2
Q.No: 41 .
TRy ;3 :: Gl : ?

Resistance : ohm :: Energy : ?

‘ A Newton LG
i) Pascal T
c Joule LGl
D Wwatt e

I UH W Y F mufy oot A g 71 3@ G ol oo T o w3

Select the Lettered pair that has the same relationship as given in the question: T LR T BT I DY T Tay vy H Ry ¢ wuE day 9 3:
QifNo: 42 Fish : Aquarium ol @?ﬁuu
A Child : School = T
B Bee : Apiary ayaet : AyAldeTey
‘ C Bird : Nest fufean : awen
‘ D Teacher : Hostel e : srETEM

mwwq@‘ﬁaﬁ?ﬁtzﬁaﬁﬂigﬁ%l S : MUY &t et @5t o W |

In the following question, a series of letters is given. Some letters have been removed in these series, Paffaa w7 el @) v 4 A E R = 4 &ﬁﬁw seR e Rumud, R g % 09 R my R

and they are in the options given below the series in the same order as they should be. Study the given ey " " i
- - ) . I A SR I T Aew) o g R Rt 7 € < T y@er o1 argdd aeama B R 8 & g9
series carefully out of the four alternatives given below, and find the one that best fits in place of the e w R 3 TR A

Q.No: 43 missing letter of the series.

a ab__bcbc__caca__

a ab__bcbc__caca__

‘A bcbc bcbc
‘B acha acba
[ becchb becch
D bcab bcab

Given question has main statement followed by four statements. Choose the ordered pair of statements, 3 " : % £
where the first statement implies the second, and the two statements are logically consistent with the S{{ ’TQW%I’; ngﬁ g;?zaiuq ﬁml B Tqﬂ#’ et e I @ 3 %' R

main statement.
b a1 A = T U1 FreaRiE FEE R nuikd ¥
A. e T ge W e o
B. fre w=dt e W amenfa et <R
C. fren Teufe Tt w enerfa §
D. fre e Tt W anuia T ¥

The movie is based on either true event or fictional account
Q.No: 44 A. The movie was based on true event
B. The movie was not based true event

C. The movie is based on fictional account

D. The movie is not based on fictional account

A BD BD
B AB AB
c DA DA
b cA ca
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In the following question, a series of letters is given. Some letters have been removed in these series,
and they are in the options given below the series in the same order as they should be. Study the given
series carefully out of the four alternatives given below, and find the one that best fits in place of the
missing letter of the series.

_de__gh__jkl__no
cdbm

cfim

abcd

cbab

Select the letter-cluster that can replace the question mark (?) in the following series.

GET IT ON

Google Play

PR vy & el 9 1o yaw A T ¥ 1 swansl d $o %R gel Ru e ¥, R 3 gwar % R Ry 1y e
30 H A R 3= B eyl AR R e R e 3 Q€ T yua 1 wrgdd g B SR 4O & g
el F VM W T5 fape I S 9o Iugw gl

ab__

de__gh__jkl_no
cdbm

cfim

abcd

cbab

Frofufed yEa & 39 SeR-TIg o1 994 5% o Uy 338 (?) B foeifid o= g 81

Q.No: 46
GU, KY, OC, 5G, ? GU, KY, OC, SG, ?
A 2K 2K
B WK WK
c MK MK
D uy uy
| Q.No: 47 A's father is B's son. C is the paternal uncle of A and D is the son of A. How is D related to C? AT R0 B YA I C, A B I 3R D, A BT IH B D, C v waR Taifdrar &2
‘ A Brother ug
‘ B Cousin B
c Nephew it
D Grandson o
Q.No: 48 :::,/vinNi:.—:;: ?:::Iaa::dotfosli\‘::;;\laresh is the husband of Kavita. Kavita is the daughter-in -law of Navin. T R 1 O 1 R R 1 R ¥ SR, A9 3 9 &1 R, T S e IR e 3
A Son =
'B Brother-in-law E-roicy
‘ C Father @ -
‘ D Brother ur§
ahers the fre tovement implies he second a7 he o satements are logcl condstent it tne | RTS8 5013 ¢ 3% 1 1 3 1l 1 o 9 Y, o 0 e el R w1 8, o
main statement. ' a‘tmmﬁmwﬂg@wém%
A statesman is either candid or confused T AT A A D & A o
Q.No: 49 A, A statesman is candid A. T T e &
B. A statesman is not candid B. T I g T &
C. A statesman is confused . T o U &
D. A statesman is not confused . T T W e &
A BD BD
B DA DA
c AB AB
D AC AC
‘ Q.No: 50 Choose the correct mirror image of this combinatf;—iFVETFB‘BVXFTKLMGSl25 3 oA Bt W g0 B3 - FETFBBXFTKL846512S
‘ A ecleke AT1Z. 899113 efleote IAT1Z. 889113
s 2c1z0k2 LAT1Z88TI37 - 2c1zoke LT 186737
c 2C12k8 1ATAX8g9T3d eglzoke AT aa9Td1
‘D 2SI ek IATIZadTITT 2L 120k JATTZ a1
Select the Lettered pair that has the same relationship as given in the question: JY &R gH DT T B ForaesT deey wy 3 ﬁlz T GHMA et J %:
ANOTEL el  Soldier e : furgt
A Helmet : Rider REHE : FAR
‘ B Law : Court BT : Agled
‘ C Stethoscope : Doctor WYY : STaeT
‘ D Book : Reader fama : wow
Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, € T Uy & w7 &y 9iR IHS 918 TR FU 2| Fu1 S HId TH T, el Ted $7 &1 a0 g s Y §, R

where the first statement implies the second, and the two statements are logically consistent with the
main statement.

The girl is querulous or satisfied
A. The girl is querulous

B. The girl is not querulous

QA FU S T J T F I T B
TSP R 1 WGP ¥

A, TsE g @

B. TS forrg T &

C. T5H IIE &
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C. The girl is satisfied D. TSH T¥ T ¥
‘ D. The girl is not satisfied
A AC AC
B BD BD
|c AB AB
D DA DA

‘ Q.No: 53 A's son B is married to C whose sister D is married to E, who is the brother of B. How is C related to E? A 1T B, C ¥ fdaifea 8, et 9571 D, E & faarfea &, < B &1 41 %1 ¢, E ¥ 5% voR W6fia &2

‘ A Daughter @&
‘ B Cousin [ ~
le sister Ere
D Sister-in-law amft
‘ Q.No: 54 Choose the correct mirror image of this combination- BCGH. 9 GdivH 1 ¥ gdur Bf3 g3- BCGH
A gHD) 8HD)
B 8OHD 80HD
c 980H 80H
D Ho28 Ho©28

I wy W qd & mafy ool A s g9 {1 3@ O Jmaf gl T At o w3t
Select the correct mirror of the given figure when the mirror is placed on the right of the figure. & STy BT WL U B BT T IR T UV Y IFR B A SR Rifirar far o 31

Q.No: 55

> > > [> >
> [>0>[>

‘ Q.No: 56 What will be the compound interest on Rs.9150 in two years when rate of interest is 2% per annum? 3 aul & 9150 ¥UY W THYI SIS TN T S S X 2% feay &2

A Rs.369.66 Rs.369.66

B Rs.340.35 Rs.340.35

c Rs.179.30 Rs.179.30

‘ D Rs.414.187 Rs.414.187

5% people of a village in Sri Lanka died by bombardment, 15% of the remainder left the village on BT F TF T B 5% T IHGR F IR T, A9 A H 15% A T P SR T IS R o 9@ T veaw

‘ Q:No: 57 count of fear. If now the population is reduced to 3553, how much was it in the beginning? 3553 g Tt § o URA H et dt?
A 3800 3800
B 4200 4200

c 4400 4400
D 5500 5500

The cost price of 51 oranges is equal to the selling price of 34 oranges. What is the percentage of profit

51 el &1 T e 34 Fodl & vy Gea F SRR B1 @y a1 g1 1 wiawrd @ 82

or loss?
50% profit 50% TH
B 33.33% profit 33.33% @Y
c 50% loss 50% g
D 33.33% loss 33.33% TN
What will come in place of question mark (?) in the following expression? FrafaRaa st 7 e Ree (?) 3 T IR F41 3TT?
Q.No: 59
2328 -43 X 57 + 182 =? — 72% of 725 2328 -43 X 57 + 182 =? 725 H172%
A 725 725
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723 723
c 726 726
| 721 721

T T o St oo o ot gt 1 o O MR af T Bt o w |

A dozen of pair of gloves quoted at Rs 240 are available at discount of 25%. How many pairs of gloves

QNo: 60 '\ bought for Rs 9007 240 TUA B TF o W THM 25% Bl Pe W SUTH T af 900 TUA F T e S et TG o U 82
‘ A 2 pair 2 St
‘ B 3 pair 3 iﬂ?ﬂ
[ 4 pair 4 wirgt
D 6 pair 6 St
A sum of Rs. 400 amounts to Rs. 441 in 2 yr at compound interest. If the interest rate Is increased by 5 =edla 7ol @1 €3 § 2 T6l § 400 IUQ P IR 441 39 g Wt B1 e =1 @} 1 5 vl g wen & s, @t ag 7
Q.No: 61 percentage points, what will be the amount? i fart ?I E11ird
A Rs. 560 560 T0
B Rs. 484 484 IR
c Rs.512 512 ¥4
D Rs. 600 600 T
Ramesh spends Rs. 11,000 on Diwali shopping. And takes a mobile phone of Rs. 26,070 and the T TG 11,000 Fareht TRl W w Sl ¥1 3R T 26,070 @1 WeTEE B ddl € AR AY 45% U 7€ U7
Q-No: 62 remaining 45% of rupees he keeps cash with him. So how much money did he have in total? U T B o 3% U 5 e wud 4 2
A Rs 68,350 68,350 T
B Rs 67,400 67,400 T
Ic Rs 68,000 68,000 T
D Rs 57,500 57,500 T
‘ Q.No: 63 Whatis the new numberif increase the number 400 by 10%? G400 H lO%ﬁQ’@WW’I’%’W’[W%’)
A 440 440
'B 460 460
c 540 540
I3 360 360
‘ Q.No: 64 Cost price of an article is gs 5,000. After sellinq it to B, A incurred a loss of Rs 500. Find the percentage e a%] @I &4 5ed 5,000 393 8] 3 B}Hﬁé‘?ﬁ%ﬁ'ﬁ, A 500 T B 7 §E)
of loss and the price at which B bought that article from A. IR 7 ufdl =1 sﬁzw%ﬁﬂwmﬁww Bﬁwa’ﬁﬁA@@ﬂ?ﬂl
A 10%, Rs 4,500 10%, 4,500 TUd
B 10%, Rs 5,500 10%, 5,500 T
c 20%, Rs 4,000 - 20%, 4,000 FTA
D 20%, Rs 6,000 20%, 6,000 ¥9

I WY W Y T 3mafy ol B o1 g §1 3ra: T 3mafy gof A B o Wt

Q.No: 65 Manali lent some amount to Shalu at a certain rate of compound interest. Interest at the end of 2years  HG ﬂmaﬁmmﬁwﬁ@ﬁawwmt{m il

and 3 years was Rs. 945 and Rs. 1521 respectively. What was the rate of interest? 299 3R 3 3 & 3iq F < HA: 945 TUY 3R 1521 TGN V| < & J1d B2
A 16.67% »y U 16.67%
B 12.50% 12.50%
c 20.00% 20.00%
D 14.29% 14.29%

The average of 39 numbers is 17 . Each number is multiplied by 12 and then 16 is added to each number.

Q.No: 66 At last, each number thus formed is divided by 11 . What is the average of new set of numbers thus 39 o a1 17 81 12 @gvnﬁﬂ-nﬁmﬂ% atial #16 iﬁmm%l NGRS

UHR Tdd YdS Fe &Y 11 A R fvar s 81 39 yeR nfdd Wemell & Tu ey S iwd ur dre

formed?
A 50 50
B 40 40
20 20
D 30 30
‘ Q.No: 67 What will be the loss percentage, if apple purchased 6 for Rs. 80 and sold 4 for Rs. 46? Bt vferra I %, 3 80 T H 6 ¥ WS M F 9k 3T 46 T H 4 Y F R I T man 32
‘A 12.5% 12.5%
B 9.30% 9.30%
c 13.75% 13.75%
D 13.50% 13.50%

Simple interest earned on 12600 Rs. at the end of 3 years is Rs. 1890. What will be Compound interest 3 @8l & 3fd & 12600 FU) W 3f¥fd WURUl s 1890 T 1

QNo: 68 1 came amount at same rate in 2 years? @t 2 au F I o W T AR R o TwefE s R g
‘ A 1986.075 Rs. 1986.075 UL
B 1260 Rs. 1260 TUA
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Q.No: 71

‘Q.No: 74
A
B
c
D

| Q.No: 75

eY

1845 Rs.
1291.5 Rs.

Ram needs 75 Rs on average for food every day. If he has 450 rupees with him , how long will it last
him?

4 days
8 days
2 days

6 days

A man gains a profit of Rs.68 after selling an item for Rs.850. Find the cost price of the item.
Rs.782
Rs.521
Rs.596
Rs.683

I WY W qd § Mufy aof B o qB 21 3 T SMARY gof 1 A 1 W1

In the question given below, some statements are given followed by few conclusions. You have to
cansider the statements to be true even they seem to be at variance from commonly known facts. You
have to decide which of the given conclusions, if any follow from the given statements.

Statements:

All Greeks are Romans.

Some Romans are Tandas.

Some Gangus are Tandas.
Conclusions:

1. Some Romans are Tandas.

II. All Greeks are Gangus.

either conclusion I or II follows
both conclusion I and II follow
only conclusions II follows

only conclusion I follows

Select the option that is related to the third term in the same way as the second term
is related to the first term.

MUSCLE : SUMLEC :: OUTPUT :

UTOPUT UTOPUT
PUTOUT . - ;UTOU; -
TOUTUP TOUTUP
TUOUTP TUOUTP

Which of the following will come in the place of question mark?
a_ca_b_aa_ca

abba

bacb

baaa

acba

I wY W g F STafy gof B o g 1 3r: G My ol TE B o WS
In a row of 50 students, A is 27 from right end. Then find rank of A from left end.

If ‘STAGE’ is coded as 'TUBHF’, ‘STRANGER’ will be codedas'______ '".
TUBSOHFS
TUSBOHFS
TUBOFSHS
TUSOBHFS

In a row X is 172 from left end & 19% from right end. Then find the total number of students in the

given row?
30
35

GET IT ON

Google Play

1845 ¥
1291.5 394

01 Y AT it % T SiRTae 75 $Ud P Srawaear gt €1 9 3 U 450 I §, < 7% bt Wi aw
AM?

4f&A
8 et
2feE
6

T o] B 850 YA T I3 W U i B 68 TG &1 @Y il B G BT HY Yo T BRI
782 ¥
521 ¥qY
596 FUY
683 T

F o g v H, T T R SES a1G FO ey T T F1 ot BT Bt T AT R, 4§ 3 S
aﬁq‘fﬁ%mmﬁﬁﬁl U T T AT ¢ o5 4T 7T Pl B | B A, Il FE 2, 14w TG o 1 orgERor
Eao ]

U

ot Tt v §

2o I A= 8

T TE ST

ﬁ'@ﬂf:

1. % v elel )

11 Foft g T B

&t Fremd 1 AT 1T SRR Rt §
Foreed 1 ofiR I ST SrgERoT PR ¥
Faa Fresd 11 SR ar §
Faet Fread 1 3ERYT BT &

e veR A RY T sERt F TE T gORT SeR T Ud SaR TIE W T 3, S veR R sieR wip § Tl e w1 9am Sk
MUSCLE : SUMLEC :: OUTPUT :

Faffed & F 90wy R P R W 1 ?
a_ca_b_aa_ca

abba

bacb

baaa

acba

T B TP Ui A < OR ¥ 273 RF W 1 d BRI A F S 79 S0
24
21
23
22

TR 'STAGE' &1 HE TN ‘TUBHF', 'STRANGER' ST R g '_____ .
TUBSOHFS
TUSBOHFS
TUBOFSHS

TUSOBHFS

T Ul F, X ST SR § 1741 3R BR F 193 B
@ ¢ ufda # frenfe @ por wem I e

30
35
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24

c 33
D 31
Find the missing term.
13 17
Q.No: 77
169 289
2197 ?
A 3375
B 5832
c 1728
D 4913
In the question, assuming the given statements to be true, find which of the two conclusions I and IT
given below them is/are followed.
Statements:
L All fans are A.C.
Q.No: 78 II. Some T.V. are A.C.
III. Some laptops are T.V.
Conclusions:
L All fans are TV.
IL. All laptops are fans.
A Only conclusion II follows
B Neither | I nor lusion II
Cc Either 1 Ior II
‘ D Only conclusion I follows
Q.No: 79 If POSTER is coded as 592314 and DARK is coded as 8647, then how will STROKE be coded
S as?
A 324917 324917
‘ B 234917 234917
[+ 234971 234971
D 493287 493287
Find the missing term.
215 |10
.No: 80
Q 1216 72
1517 |?
‘A 65
) 28
[ 105
D 36

‘ Q.No: 81 If AN = 14 and CAT = 60, then BEG = ?

GET IT ON

Google Play

33
31
T UL 1 BT
13 17
169 289
2197 ?
3375
5832
1728
4913

wy F, R T Fo B 90 TR 5, T PR R 3% AR Ry e e Fremd 1 3R 11 8 I SH-a1 srgeRw wwa §1
P

L wf g T ©

I oo A, T §

11 T el .4, §

ﬁw‘i:

1wt o A &1

I1. Tt Aot v 21

Faw fred 11 SR TR @

A 1 fFresd 19 @ Fred 11 SRR BT B
1 & Freed 1 @ e 11 gERe S B
Faa Fred 1 ATERT FIA L

4f POSTER @1 592314 & w1 # 9K DARK P 8647 & w0 H geas R o 2 @ smomaﬂhz@qﬂmﬁ:’mmf

T UG T i
2 5 |10
1216 |72
1517 |?
65
28
105
36

Ty AN = 14 3R CAT = 60, T BEG = ?

A 70 70
B 74 74
c 168 168
D 72 72
Which of the following will come in the place of question mark? Froffea & & T uyaee forg & M W amum ?
QNo: 82 cab-a-c-bc-bc-b-ab cab-a-c-bc-bc-b-ab
A bebbbe bebbbe
B bebbab bebbab
‘ C acacab acacab
D cbhaaac cbaaac
During prayer students are standing in line. Salman position is 22nd from both the girls who are T % ERH B UF $ar § T3 2 €1 YouH 1 R 3 O asfeal @ 224 § o ufdd & & 3R R ad 71
Q:No: 83 standing at both the extreme end of line. How many students are there in the line? ufekr & e o §2
(A 52 52
B 46 46
c 43 43
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Ia T W qd F AT ool o g 1 9r: T Smafy oot T 9 o wH ]

Q.No: 84 R, G, S _and T are friend. R is taller than S. S is taller than G who is smallest in the group. T is taller than R,G S R Tﬁﬁ%‘l R, S @a’iﬂél s, G @m%vﬁmﬁmm ?I Ts @a’iﬂ%l mmﬂﬁwﬂa‘maﬁqé?
S. Who is the tallest among all of them?

s S
B G G
c T T
D R R
Find the missing term. T U F1d B
Q.No: 85 187 | 11 182 14 187 | 11 182 14
17 215 ? 209 17 215 4 209
A 12 12
B 16 16
c 15 15
D 13 13
What will come in place of the question mark in the following question? Frafifed vy & vy fag & ®IF W @1 s
Qmo:8s 25 o . is e
(18)*3 = (27)%5 x 675 =2 (18)*% + (27)%5 x 62° =2
‘A 6 6
7 7
‘ C 4.5 4.5
3.5 3.5
Q.No: 87 Present age of Rahul is 5 years less than Ritu’s present age, If 3 years ago Ritu’s age was X, :Eg:b”fa?fﬂﬂ 6!1'%13?;1333?&!1? SH'QQ 59y &7 g1 I 3 Hﬁfﬂjﬁﬂﬁﬁ 3 x 4, @ g ﬁﬁ?@ﬁaﬁ
S which of the following represents Rahul’s present age? 3y B W g2
A Xx+3 x+3
B xX=-2 xX=2
‘ C X=-3+8 x=-3+8
D x+3+8 x+3+8
I UY W qd & mafy gof # 1 g 81 31 T 3maf o T ) o wd |
\ Q.No: 88 Which of the following is divisible by 10 but not by 20? Profifea § 9 @5 10 I faursy @ afeT 20 @ &2
A 45980 45980
B 98760 98760
[+ 26890 26890
D 35762 35762
‘ Q.No: 89 The sum of two number is PQ and their difference is 7% of their sum. Find their HCF. QI B PQ AR FTPT SR I UM P1 - §1 TG H.CF. I PR
Sp 6o
1 1
‘ B EPQ ZPQ
1 1
C ;”(1 ;"’(1
7 7
Zp Zp
D s Q 3 Q

92x18%) | 9°x18*
Q.No: 90 The value of is: B A §:
316 316
£ 2
A 243 243
B 16 16
81 81
£ 2
c 9 9
D 3 3
2 2
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‘ Q.No: 91 What is the area of a circle whose circumference is 88 cm? TS 9 o1 &awa 71 § ot uRfy 88 it &2
‘A 430 sq cm 430 7 &R
‘B 732sqcm 732 oif &ft
c 616 sq cm 616 Tl df
D 928 sq cm 928 Tif A
Solve for x. x & e 5 S|
Q.No: 92
3(x +4) + 8 =5x 3(x +4) + 8 =5x
A 6 6
B 10 10
c 5 5
o 2 9
‘ Q.No: 93 Find the smallest fraction of the following fractions? Frafiia fiel 7 3 w=d 31 i 79 Sike-
15 15
A 4 3
= 55
B 1 11
= 23
¢ 56 56
D - £
What value would come in place of the question mark (?) in the following equation? Frofefaa wefiexon ¥ wsame fove (2) & @A © @ aF g
Q.No: 94 2 2 2 2 N 2
(42)?— (38)2— (17)?=?+0.1 (42)2—(38)2—(17)?=?+0.1
A 6.1 6.1
B 4.1 4.1
c 3.1 3.1
D 5.1 5.1
\ Q.No: 95 The area of right- angled triangle is 3.6 sq.cm and the base is 1.2 cm, find the height? THGI e 1 daa 3.6 T Foft § ok omuR 1.2 It §, T I By
A 0.6 0.6
B 6 6
c 16 1.6
D 4 a
‘ Q.No: 96 The HCF and LCM of two numbers are 13 and 715, respectively. How many such pairs are possible? < Tl & a0 IR Te. WO HA: 13 iR 715 §1 T frad gw wie ¥
A 4 a
B 1 1
c 3 3
D 2 2
Q.No: 97 Three bells toll at interval of 9, 12 and 15 min respectively. All the three begin to toll at 8 am, At what HHT: 9, 12 3R 15 e & siara R i uieal awidht §1 S Y8 8 Tt o L& S 71 At fba T A ugelt aR
S time will they first toll together again. TF Ty g g st
A 10:30 am HaE 10:30 T
B 8:45 am IIE 8:45 T
c 11:00 am 9 11:00 T
D 1:30 pm <IUER 1:30 T
\ Q.No: 98 Check which number is divisible by 9 if value at x=2 and y=1? e x=2 R y=1 M B R G@no IR :
‘A 3x3331 3x3y31
‘B 7336x5 7y36x5
‘c 63132y 63132y
D 5x4360 5x4y60
| Q.No: 99 Which of the following is divisible by 5 but not by 4? Frofefed § 9 @19 5 9 fiea § afed 4 3 T8
A 438900 438900
B 678665 678665
c 459754 459754
o 336840 336840
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‘ Q.No: 100 At present, the age of a father is five years more than thrice his son’s age. Fifteen years hence, the M H, U O Y o o O oY oy & A A € i oy aifles R Use 9y a1, e o oy 39 g e @@

father’s age will be twice his son’s age at that time. Find the present age of the san. (in years) @t 3y ko H‘T'l‘ﬁ il 9 Eikcoticf 3 Hﬁf\lﬁf{l(mﬁﬂ)
A 10 10
'8 25 25
C 20

© MPESB. All rights reseid
D 15 15
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